126\61,""60’ 'Qa.l—es #"f'
)
\\
h 5
16 =
[ "R -
™m s .
S _ m+S
e I5
V= rrth
¥ = b ALWAYS
V=36 h

MomenT PaTEeS
s £ dw
R
ISS:LM-!—QS
qS = bw
ds dm
O]J%':Lﬂ
ds _els) 30 [0 £
0”.' - ‘7 - 7 =R Sec
dw , d
;lﬂ_";li: 2"55‘4:.%‘%
MoMeur RATES
av 2
TE- & T ia
dh
_;r{:=,7
dv =1
P
= dh
b4 36T i
dh 2 +/ -
Tt =g i



Azl

iy
ek
Ay LN
at 4t
) ad
b /,/. S
.///'i] :
le—m oM

 RATES
=1 dv -1 ,;:7
R T Vae,
h=2in 1; e
11 OR
/T N2
Ve 21 (Eh) TVE et h
. 4v 1
1 av =z
vk’ A bl 2 de
; o dh - ry
dy T ~1 s dw(0 G+ 2o Em(). Ldh
: b aal l 2 at > :
. E PR -l o pdh 2T '
-5 = q & -t 3t 5T
L ' b o 4k o
i f_t -4 s TR
&_—'._'__- n LSRR TS
dt -~ 2mo Sec At T+ /se;
MbMEﬁMT' QA-‘I'ES
MY dm
S=3m T ==l.6 M/écc.

0 = [2ds mds _ s dm
At At~ dt
-y ds Tapl
0,225 ds - 3(-14)
- ogds g
g = §5
g gds
1828 0%
| % |
— Al S c{_S
-4 £F =06 sec




| | { :IUD
tand= "x

fo 8 = (00X

 MomenT

oo,

MomenT | Retes
S=S5f+ ] ds 1 f4/
- | | ““’“"-i‘—;"c'é‘e';“" "

‘.2_(99:_ ".Jﬁ' ,~!uo [)

MouenT - Rates
¥=5 em dv
. 1 F e



